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Annex 5: Statistical data
analysis

Group 8: Total elements
Ca, Mg, Na, K, Al, Fe and Mn
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Box plot of the standard deviations of samples A, B and C
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Box plot of the meansAof samples A, B and C

(0]

30;40;36<48;14>13;3>7,32;84
T

8000 8500 9000 9500 10000 10500
B
1347(30) 1645(40)
[ o () Qg @)
36;14<13<32>7;3>48
T T T T T T T
1350 1400 1450 1500 1550 1600 1650
C
o o) o) o o) o o
7:13;3<40;30>14;84>32;48;36
T T T T T
72000 74000 76000 78000 80000

8 - Total Ca - mean

0:0,0/U:10

O:1,1/U:9

0:0,0/U:10



Box glot of the means of samples D and E

[

0
o
[
o
o

36;30;7<32<14>48;13>3;40
T

T T
1200 1300 1400 1500

]

o@o o)

(0]

(0]
(e]

30;3<7;40>14;36>13;48
T T |

1050 1100 1150

8 - Total Ca - mean

0:0,0/U:9

0:0,0/U:8



012345

0
3

Histogram of the standard deviations of samples A, B ang.C ¢
70% >
S
_________ LLj
/‘4" ~'~’~’~ o
"/ -l N
10% = == =._, _ 10% 10% Z
| e L 0% ETtiditieliintiod b S
0 200 400 600 800 1000 %
8 - Total Ca - Sample A - stdev

©
2788(82)
40%”~ TN 40% >

PR N,
e ~ o
7’ s Sio N
-7 S~eo . 10%. . — e e 10% °
g 0% == $-= [ T m=- - 2
0 20 40 60 80 100 ;

8 - Total Ca - Sample B - stdev

36.4% 36.4% 5
R L - o
‘/"‘ ,\‘\ LlJ
‘,‘/ = ~, o
‘/‘/ \,\’\’ N
9.1% == ~9.1% 9.1% S
______ == = ———e e oo L <
e 0% A R et - Z
0 1000 2000 3000 =

8 - Total Ca - Sample C - stdev

a: 282.6 m: 23.09 s: 831.2 a: 441.2 m: 1725 s: 743

a: 1618 m: 1512 s: 758.4



1.0 20 3.0

0.0

0123456

Histogram of the standard deviations of samples D ang £,

|,

502(32)

8 - Total Ca - Sample E - stdev

30%
20% 20% 20%
JPEE T I T T o S 10%
0% 0% T O
0 50 100 150
8 - Total Ca - Sample D - stdev
66.7%
AT T 11.1% 11.1% 11.1%

0% R il D L -0% == === s v il el - —.

0 50 100 150

N: 11 NA:0Z:0E: 0,1 U:10

10NA:0Z:0E:0,1U:9

N:
a: 89.64 m: 19.34 s: 152.9

a: 319 m: 56.23 s: 855.3



Box plot of the standard deviations of samples A, B and C
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Histogram of the means of samples D and E
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Histogram of the means of samples A, B and C
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Histogram of the means of samples A, B and C
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